T £ i & & E R

T E4
T=EEFT
T # ~ 5 AX H
B EHE & M
K E
BSREA EEHME
W g EXES L
THIEFE | s, =S SHE
REHYFTR | &R
BEFEAA
A
H A @ B | O%EEEE e LT/ prgy e
T i AR —a% (< )X0.4+2.9 ‘
1 i T (3.34) =3
(7.45) I EEHiE [ )X0.4+2.9
(4.145) =3
1 fE T ( )X0.4+2.9 )X 0.4-+6.5=
(13.04) = )X0.4+6.5=
I T/EEHE ( )X0.4+2.9 )X0.243.2
2 TR (8. 1) A
(33. 6,5) W Ze4ntis ( )X0.4+2.9 )X0.243.3
(8.8;5) =
IV x4 BatR ( )% 0.4+2.9
(3. 7/5) =
1 H¥kw ( )%0.4+2.8 ( Y% 0.446.5=
3 Hkw (14. 95) J= ( )X 0.446.5=
Jrae) I S )X0.442.9 ( Y% 0.446.5=
HskiXz (17. 45) ( )X 0.446.5=
(40. 8/5) m HkiEz ( )X 0.446.5=
(8.5) ( )X0.4+6.5=
4 TEHM 1 T4 )X0.245.3
(7.35) DX o=
5 AlETR | I AIELR )X 0.44-2.9
(5.75) )
6 tHEersE | 1 Hug~O )X0.243.2
(5. 2/5) HHE =
7 ESESTE
??ﬁz”mu?r

SERFRAD 7 zbof:f]%/a} (®+®+®+@><0 5+@><o 5) =B BIREES

EJZ#%E#&‘:WOt (O+@+B+®) =il BRIFEER
SIS /J\iil.\\U\"F%IQOD#CTﬁ%IEIﬁEAI)’%#K&‘Té




